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MDCAT English Part Il Spotting Errors / Grammatical Errors Online Test

Questions

Identify the error

She likes you more than me

Identify the error

He is beyond all doubt the best student of his class

Identify the error

She is poor but she is honest

Identify the error

The housemaid made off with the money

Identify the error

I have tried to accommodate you whenever possible

Identify the error
Although the manager agreed to more flexible work schedule he said that it must be

posted on the bulletin board so that both management and labour will know that
everyone is assigned to do

Identify the error

The marines who landed on the beaches of lwo jims effected the rescue of several
prisoners of ware whose assault took the enemy by surprise

Answers Choice

A. She like you and she likes me

C. she likes you better than me
D. she likes you but she likes me as
well

B. perhaps
C. possibly
D. probably

B. she is honest and she is poor
C. she is poor and she is honest
D. she is poor because she is honest

A. The housemaid stole money

B. The housemaid might have stolen
the money

C. The housemaid was accused of
stealing the money

B. I have helped you
C. I have supported you
D. I have supported you
E. I have served you

B. he said it had to be posted on the
bulletin board so that both
management and labour knows what
everyone is

C. he said that they would have to
post the assignments on the bulletin
board so that management and
labour knew what everyone was

D. he said that the schedule would
have to be posted on the bulletin
board so that both management and
labour would know what everyone
was

E. saying that the schedule had to be
posted on the bulletin board so that
both management and labour would
know what everyone had been

A. The marines who landed on the
beaches at Iwo Jima effected the
rescue of several prisoners of ware
whose assault took the enemy by
surprise

B. The marines effected the rescue of
several prisoners of ware who had
landed on the beeches at IWo Jima
and whose assault had taken the
enemy by surprise

C. The marines who landed on the
beaches at IWo Jima effected the
rescue of several prisoners of ware

whose assault had taken the enemy
by surprise.

D. The marines who landed on the
beaches at IWo Jima affected the
rescue of several prisoners of ware
whose assault had taken the enemy
by surprise
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Identify the error

The police officers throughout the department were so distrustful of the new
commissioner that they refused to carry out his orders

Identify the error
The recent drop in the prime interest rate probably results from the Federal Reserve

Banks tight money policy and its effect on lending institutions rather than to the drop
in the overall rate of inflation

Identify the error

A private house in new york city is a building owned by an individual or individuals
having less than eight units and no commercial space

Identify the error

Transcendentalism was seen as a somewhat pantheistic philosophy and opposed
by orthodox Christians

Identify the error
The revelation that shakespeare wrote certain of his plays expressly for queen
elizabeth i lends credence to the theory that the dark lady of the sonnets was not

shakespeares mistress nor any other woman the playwright had romanced but in fact
the queen herself

Identify the error

Let us make a move

Identify the error

Itis a long way to Karachi

Identify the error

This drung works as an antidepressant

ldAntifisthn Aveaw

B. was so distrustful of the new
commissioner that they refused

C. were distrustful of the new
commissioner to such an extent that
they were to refuse

D. were so distrustful of the new
commissioner that they had to refuse
E. were as distrustful of the new
commissioner that they refused

A. its effect on lending institutions
rather than to the drop in the overall
B. its effect on lending institutions as
opposed to the drop in the overall
C. its effect on lending institutions
rather than from the drop in the
overall

E. the effect on lending institutions
rather than to the drop in the overall

A. a building owned by an individual
or individuals having less than eight
units and no commercial space

B. one that an individual or
individuals own with fewer than eight
units and no commercial space

C. a building with fever than eight
units no commercial space and is
owned by an individual or individuals
D. one that has fewer than eight units
no commercial space and it is owned
by an individual or individuals

B. and orthodox christians opposed
them

C. that orthodox christians opposed it
D. being opposed by orthodox
christians

E. and orthodox christians oppose it

A. not shakespeares mistress nor any
other woman the playwright had
romanced

B. neither shakespeares mistress or
any other woman the playwright had
romanced

D. not shakespeares mistress or any
other woman the playwright had
romanced

E. not shakespeares mistress neither
any other woman he had romanced

. let us go
. let us reach there

. let us leave this place

O w>

. Karachi is situated far away
. Karachi is not very near

w >

. Karachi is a remote place

D

A. ltis a drug that treats depression
B. It is a drug that cures depression
D

. This drug is active against
depression

A. He will come todav
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He might come today

Identify the error

I have nothing to do with his as he is a liar

Identify the error

The smoking of cigarettes being injurious to nonsmokers is rapidly becoming a
major concern of public health officials

Identify the error

The Metropolitan Museum of Art will soon add a wing devoted entirely to modern art
whereas before other museums exhibited modern art while the Met ignored it

Identify the error

Primarily accomplished through the use of the electron microscope researchers have
recently vastly increased their knowledge of the process of cell division

Identify the error
Many people mistakenly believe that the bodys nutritional requirements remain the

same regardless of the quantity and form of other nutrients ingested physical activity
and emotional state

Identify the error

Having discovered the Roman aristocrats to be suffering from lead poisoning it is
now thought that this was a major cause of their inability to reproduce

B. He may come today
D. He must come today

A. I have nothing to do with him and
he is a liar
B. He is a liar and | have nothing to
do with him

D. I have nothing to do with him
although he is liar

A. The smoking of cigarettes being
injurious to nonsmokers is

B. Cigarette smoking being injurious
to nonsmokers is

C. The fact that cigarette smoking is
injurious to nonsmokers are

D. It being injurious to nonsmokers
cigarette smoking is

A. Art whereas before other museums
exhibited modern art while the met
ignored it

B. Art while before other museums
exhibited modern art while the met
ignored it

C. Art meanwhile before other
museums had exhibited the art while
the Met ignored it

D. Art other museums exhibited the
art before with the Met ignoring it

A. Primarily accomplished through the
use of the electron microscope

B. Through the competent use of
advanced electron microscopy

D. In a large sense through the use
of the electron microscope

E. In the main particularly through the
use of electron microscopes

A. Regardless of the quantity and
form of other nutrients ingested
physical activity and emotional state
B. Regardless of the other nutrients
physical activity and emotional
state&nbsp;

C. Regardless of the quantity of
nutrients or physical exercise for
emotional excitation.

D. Regardless of the quantity or form
of nutrients or physical exercise and
emotional statement

A. having discovered the Roman
aristocrats to be suffering from lead
poisoning

B. To have discovered the Roman
aristocrats to be suffering from lead
poisoning

D. Since the suffering of lead
poisoning by Roman aristocrats was
discovered by scientists

E. Due to the fact Roman aristocrats
were suffering from lead poisoning
was discovered by scientists

A. If science can find a cure for
cancer if the nuclear arms race can
be stopped and if people can work
together to resolve mutual
differences are
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Identify the error
If science can find a cure for cancer if the nuclear arms race can be stopped and if

people can work together to resolve mutual differences are the topics around which
the seminar has been planned

Identify the error

The mayors media advisor together with his three top aides are traveling with him on
a tour of European capital cities

Identify the error

The director of the Miss America pageant continues to maintain that the judges
ultimate choice is based less on the physical appearance of the contestant as on her
intelligence talent and personality

Identify the error

It was really an indigestible food

Identify the error

Itried to convince him but he was of the same opinion still

Identify the error

Notwithstanding his failure he is hopeful

Identify the error

lam going to dispense with this furniture now

Identify the error

His remarks amount to a cheeky intrusion into my private affairs

Identify the error
Since they shared so much when they were growing up Elizabeth and Sarah have

cultivated a very special friendship and even now confide their most intimate
thoughts only to one another

Identify the error

Mens interest in developing a cure for cancer have promoted the rapid advances in
the abstruse field now known as Genetic Engineering

C. If science can find a cure for
cancer if the nuclear arms race can
be stopped and if people can work
together to resolve mutual
differences is

D. Whether science can find a cure
for cancer whether the nuclear arms
race can be stopped and whether
people can work together toward the
resolution of mutual differences

E. That science can find a cure for
cancer that the nuclear arms race
can be stopped and that people can
work together to resolve mutual
differences is

A. Media advisor together with his
three top aides are

B. Media advisor also his three top
aides are

D. Media advisor along with his three
top aides are

E. Media advisor all in the company
of his three top aides is

A. As on
B. And more on

D. But more on
E. than

A. It was a food that was indigestible
B. This food was not to be digested
C. It was a food that could not be
digested

A. I tried to convince him but he didnt
agree

B. I tried to convince him but he
remained neutral

D. I tried to convince him but he
disagreed

A. He had failed therefore he is
hopeful

C. He is hopeful because he has
failed
D. He has failed and he is hopeful

A. Going to buy
B. Going to have

D. Going to supply

B. a friendly intervention
C. Afresh prying
D. A brisk meddling

A. To one another

B. One with the other
C. One with another
D. Each to the other

A. Mens interest in developing a cure
for cancer have promoted

C. That men are interested in
developing a cure for cancer have
promoted

N Intaract in davalaninA a rira fara
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Identify the error

Jockeys at most racetracks become familiar with the horses by riding them in early
morning workouts which keeps both the jockeys and the horses in good condition

Identify the error

Unlike Edgar Allan Poe whose works were ignored in his native country the works of
Hawthorne were read and appreciated by the public and by contemporary critics

Identify the error

Having been ordered by the judge to resume alimony payments Mrs Jones was still
not required by it to see her children on weekends

Identify the error

The selection in the free agent draft was based less on the players availability and
more on his willingness to accept a low salry

Identify the error

It is characteristic of the Metropolitan Opera as of every major international company
that the casting is based more on the availability of singers as it is on the tastes of
the music director and the public

Identify the error

The accident victim was very grateful to the hospital that had saved his life but
viewed his insurance company with suspicion out of fear that it will refuse to pay his
claim and very expensive medical bills

Identify the error

The commission studying mass transportation suggested that the Metropolitan
Transit Authority hold off purchasing new subway cars and spend money instead on
preventive maintenance of all cars on repairs of substandard cars on crime

prevention in all stations an better lighting for the busiest stations

e LIS T UL YLIUPIY © LU UG
cancer has promoted

E. Mans interest in developing a cure
for cancer has promoted

A. Become familiar with the horses by
riding them in early morning workouts
which

B. become famiiliar with the horses
and also ride them in early morning
workouts which

D. Ride horses to become familiar
with them in early morning workouts
which

E. ride horse in early morning
workouts and become familiar with
them which

A. Edgar Allan poe whose works were
ignored in his native country the

B. Edgar Allan Poe whose native
country ignored his work the

C. The works of Edgar Allan Poe
ignored in his native country the

E. The works of Edgar Allan Poe
having been ignored in his native
country the

A. Ms Jones was still not required by
it

B. Still had not been required by it
C. Still was not to be required

E. Was not sufficiently required

A. and more on
B. than

C. but more on
D. ason

A. As of every major international
company that the casting is based
more on the availability of signers as
it is

C. As it is of every major international
company that the casting had been
based more on the availability of
singers as

D. As about every major international
company that casting is based more
on the availability of singers than it
was

E. As it is of every major international
company where the casting is based
more on the availability of singers
than it is

A. Out of fear that it will refuse
B. In fear that it will refuse

D. Out of fear that it is refusing
E. Out of fear that they will refuse

A. On crime prevention in all stations
an better lighting for the busiest
stations

B. On crime prevention in all stations
and better lighting for the busiest
stations

C. On crime prevention in all stations
and for better lighting in the busiest
stations

E. On the prevention of crime in all

Atatinna AnA fAar hattar linhtina in tha
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Identify the error
Like their counterparts in other countries the student movement in the united states in

the 1960 was a powerful one and probably helped to bring the war in Vietnam to an
end

Identify the error
Long popular among the connoisseurs of indian music Ravi Shankar first impressed

western listeners with his phenomenal technical virtuosity but they soon came to
appreciate his music as an artful expression of an older cultures musical insights

Identify the error

The jurors agreed that of all the reasons the defense attorney gave for finding his
client not guilty the last two of them were the most absurd

Identify the error

The reason why the boxing commission refused to grant a license to the fighter was
because it concluded he could not pass the required physical exam

Identify the error

Just as william shakespeare was the preeminent poet of England so Robert Frost
was the Preeminent poet of the United states

Identify the error

The president of the block association tried to convince her neighbours they should
join forces to prevent crime in the neighbour hood rather than continuing to be
victimized

DdlAlUIID dl U Ul veLel Ilyl nu Ig nuie
busiest stations

A. Like their counterparts in other
countries the student movement in
the united states in the 1960s

B. As in other countries the student
movement in the United States in the
1960s

C. Just as the student movements in
other Countries the student
movement in the United States in the
1960s

E. The student movement in the
united States in the 1960s. like in
other countries

B. But is soon occurred that they
appreciated his artful music as an

C. But soon this was surpassed by an
appreciation of it as an artful

D. Which was soon surpassed by an
even deeper appreciation of it as an
artful

E. Soon surpassed by an artful
appreciation of an

A. The last two of them were the most
absurd

B. The latter two were the most
absurd

C. The last two of these were the
most absurd

D. The last two of them were the
absurdest

A. The reason why the boxing
commission refused to grant a license
to the fighter was because it
concluded

B. The boxing commissions refusal to
grant a license to the fighter was
because it concluded

D. The reason the boxing commission
refused to grant a license was
because it concluded

E. The boxing commission refused to
grant a license the reason being that
it concluded

B. Just like William Shakespeare was
the preeminent poet of England so
Robert Frost

C. As William Shakespeare was the
preeminent poet of England Robert
Frost

D. Just a England preeminent poet
was William Shakespeare Robert
Frost

E. As William Shakespeare was the
preeminent poet of England in the
same manner Robert Frost

A. They should join forces to prevent
crime in the neighbourhood rather
than continuing to be victimized

C. About joining forces to prevent
crime in the neighbourhood instead
of continuing to be victimized

D. for the joining of forces to prevent
crime in the neighbourhood rather
than continue to be victimized

E. To join forces to prevent crime in
the neighbourhood rather than
continuing to be victimized
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Identify the error

In comparison with the literature created by the ancient Greeks today Greeks have
written nothing worth describing

Identify the error

He ran away as he saw the lion

Identify the error

He deduced this point after he had studied the matter

Identify the error

he was on the verge of leaving for Lahore when i reached there

Identify the error

He was then exiled to this Island

solve as per thedirectiongiven above

solve as per the directiongiven above

solve as per the directiongiven above

A. In comparison with the literature
created by the ancient Greeks today
Greeks have written nothing worth
describing

B. In comparison with the literature
created by the ancient Greeks the
literature of today Greeks are
containing nothing worth describing
C. Compared to that of the ancient
Greeks today Greeks have written
nothing worth describing

E. Compared to the ancient Greeks
literature today Greeks have written
nothing worth describing

A. he ran away only because he had
seen the lion

B. He saw the lion and ran away

C. He saw the lion therefore he ran
away

A. He deduced this point because he
had studied the matter

B. He had studied the matter
therefore he deduced this point

C. He could not deduce this point

without studying the matter

A. I reached there and he left for
Lahore

C. He left for Lahore and i reached
there

D. I had reached there before the left
for Lahore

A. he was then sent to this island
B. He was then deported to this Island

D. He was then driven out to this
Island

B. <span style="color: rgb(0, 0, 0);
font-family: arial;">On the eve of the
examination</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">That | found it very
easy to work it out</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">An Indian
ship</span>

B. <span style="color: rgb(0, 0, 0);
font-family: arial;">laden with
merchandise</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

B. <span style="color: rgb(0, 0, 0);
font-family: arial;">Because the
boarding and lodging
charges</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">Were
exorbitant</span>

D. <table class="bix-tbl-options"
id="tblOption_35" border="0"
cellpadding="0" cellspacing="0"
width="100%" stvle="marain: Onx:
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solve as per the directiongiven above

solve as per the directiongiven above

solve as per the directiongiven above

solve as per the directiongiven above

solve as per the directiongiven above

box-sizing: border-box;"><tbody
style="margin: Opx; box-sizing:
border-box;"><tr style="margin: Opx;
box-sizing: border-box;"><td
class="bix-td-option" width="99%"
id="tdOptionDt_D_35" style="margin:
Opx; box-sizing: border-box; font-
family: arial; vertical-align: middle;
padding: 7px;">No error</td></tr>
</tbody></table>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">The Indian
radio</span>

B. <span style="color: rgb(0, 0, 0);
font-family: arial;">Which was
previously controlled by the British
rulers</span>

D. <div></div><div><table class="bix-

tbl-options" id="tbIOption_11"
border="0" cellpadding="0"
cellspacing="0" width="100%"
style="margin: Opx; box-sizing:
border-box; font-family: arial;"><tbody
style="margin: Opx; box-sizing:
border-box;"><tr style="margin: 0px;
box-sizing: border-box;"><td
class="bix-td-option" width="99%"
id="tdOptionDt_D_11" style="margin:
0px; box-sizing: border-box; font-
family: arial; vertical-align: middle;
padding: 7px;">No error</td></tr>
</tbody></table></div>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">If | had
known</span>

B. <span style="color: rgb(0, 0, 0);
font-family: arial;">This
yesterday</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">A lot of travel delay
is caused</span>

B. <span style="color: rgb(0, 0, 0);
font-family: arial;">Due to the
inefficiency and lack of good
management</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">One of the
members</span>

C. <span style="color: rgb(0, 0, 0);

font-family: arial;">The Minister was
an atheist</span>

D. <span style="color: rgb(0, 0, 0);

font-family: arial;">No error</span>

B. <span style="color: rgb(0, 0, 0);
font-family: arial;">My M.Sc.
degree</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">In 1988</span>
D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">If you lend him a
book</span>

B. <span style="color: rgb(0, 0, 0);

fant_famih,; arial-"SHa will lanAd it tA
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solve as per the directiongiven above

solve as per the directiongiven above

solve as per the directiongiven above

(solve as per the directiongiven above

wincialiny. ainal, <1IG Wil IS1HJ 1L W

some one else</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <div></div><div><table class="bix-
tbl-options" id="tblOption_16"
border="0" cellpadding="0"
cellspacing="0" width="100%"
style="margin: Opx; box-sizing:
border-box; font-family: arial;"><tbody
style="margin: Opx; box-sizing:
border-box;"><tr style="margin: 0px;
box-sizing: border-box;"><td
class="bix-td-option" width="99%"
id="tdOptionDt_A_ 16" style="margin:
0px; box-sizing: border-box; font-
family: arial; vertical-align: middle;
padding: 7px;">According to the
Bible</td></tr></tbody></table></div>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">Who shall inherit
the earth</span>

D. <div></div><div><table class="bix-
tbl-options" id="tblOption_16"
border="0" cellpadding="0"
cellspacing="0" width="100%"
style="margin: Opx; box-sizing:
border-box; font-family: arial;"><tbody
style="margin: Opx; box-sizing:
border-box;"><tr style="margin: 0px;
box-sizing: border-box;"><td
class="bix-td-option" width="99%"
id="tdOptionDt_D_16" style="margin:
0px; box-sizing: border-box; font-
family: arial; vertical-align: middle;
padding: 7px;">No error</td></tr>
</tbody></table></div>

A. <div></div><div><table class="bix-
tbl-options" id="tblOption_16"
border="0" cellpadding="0"
cellspacing="0" width="100%"
style="margin: Opx; box-sizing:
border-box; font-family: arial;"><tbody
style="margin: Opx; box-sizing:
border-box;"><tr style="margin: 0px;
box-sizing: border-box;"><td
class="bix-td-option" width="99%"
id="tdOptionDt_A_ 16" style="margin:
Opx; box-sizing: border-box; font-
family: arial; vertical-align: middle;
padding: 7px;">According to the
Bible</td></tr></tbody></table></div>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">Who shall inherit
the earth</span>

D. <div></div><div><table class="bix-
tbl-options" id="tblOption_16"
border="0" cellpadding="0"
cellspacing="0" width="100%"
style="margin: Opx; box-sizing:
border-box; font-family: arial;"><tbody
style="margin: Opx; box-sizing:
border-box;"><tr style="margin: 0px;
box-sizing: border-box;"><td
class="bix-td-option" width="99%"
id="tdOptionDt_D_16" style="margin:
Opx; box-sizing: border-box; font-
family: arial; vertical-align: middle;
padding: 7px;">No error</td></tr>
</tbody></table></div>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">Do the roses in
your garden smell</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">Than those in
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solve as per the directiongiven above

solve as per the directiongiven above

solve as per the directiongiven above

solve as per the directiongiven above

solve as per the directiongiven above

solve as per the directiongiven above

ours?</span>
D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

B. <span style="color: rgb(0, 0, 0);
font-family: arial;">Are coming
up</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">Near our
house</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">You can
get</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">In this
book</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">The students
were</span><table class="bix-tbl-
options" id="tblOption_76" border="0"
cellpadding="0" cellspacing="0"
width="100%" style="margin: Opx;
box-sizing: border-box; font-family:
arial;"><tbody style="margin: 0px;
box-sizing: border-box;"><tr
style="margin: Opx; box-sizing:
border-box;"></tr></tbody></table>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">The arrival of the
chief guest</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">Sixty miles</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">A good
distance</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

B. <div></div><div><table class="bix-
tbl-options" id="tblOption_37"
border="0" cellpadding="0"
cellspacing="0" width="100%"
style="margin: Opx; box-sizing:
border-box; font-family: arial;"><tbody
style="margin: Opx; box-sizing:
border-box;"><tr style="margin: 0px;
box-sizing: border-box;"><td
class="bix-td-option" width="99%"
id="tdOptionDt_B_37" style="margin:
Opx; box-sizing: border-box; font-
family: arial; vertical-align: middle;
padding: 7px;">Very close
friends</td></tr></tbody></table>
</div>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">Until they
quarrelled</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">When the dentist
came in</span>
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solve as per the directiongiven above

solve as per the directiongiven above

solve as per the directiongiven above

solve as per the directiongiven above

solve as per the directiongiven above

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">Out of fear that |
might lose my tooth</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">It is the duty of
every citizen to do his utmost</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">freedom of the
country</span><table class="bix-tbl-
options" id="tblOption_232"
border="0" cellpadding="0"
cellspacing="0" width="100%"
style="margin: Opx; box-sizing:
border-box; font-family: arial;"><tbody
style="margin: Opx; box-sizing:
border-box;"><tr style="margin: 0px;
box-sizing: border-box;"></tr>
</tbody></table>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">No sooner did |
open the door</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">Making us shiver
from head to foot</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

B. <span style="color: rgb(0, 0, 0);
font-family: arial;">With the best that
has been thought and said in this
world</span>

C. <div></div><div><table class="bix-
tbl-options" id="tblOption_243"
border="0" cellpadding="0"
cellspacing="0" width="100%"
style="margin: Opx; box-sizing:
border-box; font-family: arial;"><tbody
style="margin: Opx; box-sizing:
border-box;"><tr style="margin: 0px;
box-sizing: border-box;"><td
class="bix-td-option" width="99%"
id="tdOptionDt_C_243"
style="margin: Opx; box-sizing:
border-box; font-family: arial; vertical-
align: middle; padding: 7px;">He will
become simple and unselfish</td>
</tr></tbody></table></div>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">You must</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">To post this
letter</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">l shall
certainly</span>

B. <span style="color: rgb(0, 0, 0);
font-family: arial;">Write you</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <snan stvle="color: rab(0. 0. 0):
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solve as per the directiongiven above

solve as per the directiongiven above

Solve as per the directiongiven above

solve as per the directiongiven above

Solve as per the directiongiven above

Solve as per the directiongiven above

font-family: arial;">On the busy Ring
Road</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">Between a truck
and an auto</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">Mr. Praful
Patel</span><table class="bix-tbl-
options" id="tblOption_160"
border="0" cellpadding="0"
cellspacing="0" width="100%"
style="margin: Opx; box-sizing:
border-box; font-family: arial;"><tbody
style="margin: Opx; box-sizing:
border-box;"></tbody></table>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">For the last one
month</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

B. <span style="color: rgb(0, 0, 0);
font-family: arial;">Shedding tears at
the plight of the villagers</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">Rendered
homeless by a devastating
cyclone</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">He will certainly
help you</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">In a pleasant
manner</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

B. <span style="color: rgb(0, 0, 0);
font-family: arial;">Because it
penetrates deepdown (beinglight and
non-sticky) and works from
within</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">(Because of its
ayurvedic ingredients) to keep skin
blemish, free and helps cope with
cuts nicks, burns and nappy rash.

</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>
A. <span style="color: rgb(0, 0, 0);
font-family: arial;">Will you please
buy</span>

B. <span style="color: rgb(0, 0, 0);
font-family: arial;">Some jaggery for
me</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">If you go to the
market</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">Most of the
members at the meeting felt</span>

N e _ia_m_ ~
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solve as per the directiongiven above

B. <span Style="COIOr: rgo(u, U, U);
font-family: arial;">That the group
appointed for investigating the
case</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>



